CHM151 Q6 25Pts Fall 2004 Name: K%

Information: mole = 6.02 x 1023, molar masses: Ba/= 137.33,Cl =35.45, H=1.01, O =16.00,
SHOW ALL WORK FOR CREDIT.

1. (4 Pts) What is the molarity of a barium chloride solution prepared by dissolving
2.50 g of BaCly*2H20 in enough water to make 400 mL of solution?
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2. (5 Pts) What volume of 0.150 & AgNO3; solution is required to react with 80.0 mL of
0.0660 M CaClp solution according to the following reaction?

2AgNO3 + CaClp 2 2AgCl + Ca(NO3)2
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3. (5 Pts) Witherite is a mineral that contalns barium carbonate. If 1.68-g sample
of witherite were to react completely with 24.6 mL of 0.2558 & HCl, what would be the
percent of barium carbonate in the witherite sample? (Barium carbonate is the only
compound present that reacts with the hydrochloric acid.) -
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4. (5 Pts) What is the molarity of a barium hydroxide solution if”fgfgf/az/;; this

Ba (OH) > solution requires 35.84 mL of 0.2419 M HCl for titration to the equivalence
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2HC1 + Ba(OH), = BaClp + 2H0
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5. (6 Pts) Write Net Ionic Equatlonsfgor e@;h of the ﬁz}i§w1ng f
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c. Combining aqueous solutions of Bal, and K,S04 affordzs—a precipfrrate of
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